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COMPOUND INTEREST p@ofYs (;kt

(PRACTISE SHEET)

A sum of Rs. 100 is invested at 10% per
annum compound interest (compounded
annually) for two years. How much
interest will be received after two years
100 #i; dh jkf*k dk nk Tky d fy, 10» ¢fr o'
pgofs C;kt (okfkd =i 1 I;kftr) ij fuo'k
fd;k thrk gh nk Bky ckn fdruk C;kt feyxk\

(a) Rs. 42 (b) Rs. 21

(c) Rs. 210 (d) Rs. 20

A sum of Rs. 2000 is invested at 10% per
annum compound interest (compounded
annually) for two years. How much
interest will be received after two years
2000 #i; dh jk'k dk nk Tky d fy, 10» cfr
o'k p@of¥s C;kt (okfkd i 1 I;kftr) ij
fuo™k fd;k tkrk gi nk Bky ckn fdruk C;kt
feyxk\
(a) Rs. 420 (b) Rs. 2420
(c) Rs. 210 (d) Rs. 400
A sum of ¥ 900 is invested at compound
interest (compounded annually) for 2
years. If the rate of interest is 10% per
annum, then what will be the amount?
2900 dh jif'k 2 0'% d fy, p@ofv C;kt (okfid
i 1 L;kfer) 1j fuo'k dh thrh gh ;fn C;kE
dh nj 10» 1fr 0% g] rk fed/u fdruk gkxk\
SSC MTS 7/08/2019 (Morning)
(a) ¥ 1071 (b) ¥ 1089
(c) ¥ 1289 (d) ¥ 1121
The compound interest (compounded
annually) on a sum of money invested for
two years is ¥ 10125. If the rate of
interest in 25% per annum, then what is
the amount after these two years?
nk o'k d fy, fuo™ dh x;h fdlh jki*k 1j
pdofs C;kt (okfkd =i 1 1;ktr) T 10125
gh ;fn C;kt dh nj 25» ifr o' g] rk bu nk o'k
d ckn fed/u Kkr djA
SSC MTS 7/08/2019 (Evening)
(a) ¥ 28125 (b) ¥ 32275

(c) T 30625 (d) T 26275

5.

8.

A sum of ¥ 3000 is invested at 20% p.a.
compound interest (compounded
annually). What is the compound interest
for two years?

Z3000 dh jki'k dk 20» ifr o'k d p@of¥s (;kt
nj (okfkd -1 1 L;kfer) ij fuo’k fd;k x;k
gh 2 o'k dk p@ofya C;kt fdruk g\

SSC MTS 6/08/2019 (Morning)

(a) ¥ 1360 (b) ¥ 1200
(c) ¥ 1320 (d) ¥ 1440
If 12000 is invested at 20% p.a.
compound interest (compounded

annually) for 2 years, then calculate the
interest.
;fn 12000 dk 20» ifr o'k dh nj 1 p@of¥s
C;kt (okfkd -1 I L;kfer) 1j 2 o'k d fy,
fuo’k fd;k x;k g rk C;k€ fdrun g\

SSC MTS 6/08/2019 (Afternoon)
(a) ¥ 5280 (b) ¥ 4280
(c) ¥ 4800 (d) ¥ 5640
The compound interest on a certain sum
of money for 3 years, compounded
annually, at a rate of interest of 10% per
annum is Rs 1,324. The sum is:
0kt dh x.kuk okfkd p@ofvs vi/kj ij dijr
g,] fdn fuf"pr jkf*k 1j 10» okfkd C;kt nj 1
3 0% dk p@ofys C;kt # 1]324 gkrk gh jki™k
Kkr dift,A

SSC CHSL 9/08/2021 (Shift-01)

(a) Rs 4,000 (b) Rs 5,000
(c) Rs 5,500 (d) Rs 4,500
The simple interest on a sum of Rs 12,000
at the end of 5 years is Rs 6,000. What
would have been the compound interest
on the same sum at the same rate for 3
years when compounded annually?
#- 12]000 dh Zujki*k ij 5 o d vr e I/
K.k C;kE # 6]000 ghrk gh bl Zujkf'k ij 3 o'k
e lefu nj I okf'kd -1 I pdofYs gku okyk
pdof¥s C;kt fdruk gkxk\

SSC CHSL 10/08/2021 (Shift-01)
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10.

11.

12.

13.

(a) Rs 3972 (b) Rs 3970

(c) Rs 2520 (d) Rs 3600

What will be the compound interest for 3

years on ¥5120 at the rate of 12.5%

(compounded annually)?

25120 dh jkf*k ij 12-5» di nj 1 3 o'% dk

pofys C;kt (okfkd =i 1 1;ktr) fdruk g\
SSC MTS 13/08/2019 (Morning)

(a) ¥ 2280 (b) ¥ 1960

(c) ¥ 2120 (d) ¥ 2170

A sum of ¥ 1000 is invested on compound
interest (compounded anually) for three
years. If the rate of interest is 10% per
annum for the first two years and 50% per
annum for the third year, then what will
be the interest?

21000 dh jk'k riu o' d fy, p@of¥ C;kt
(okfkd zi 1 1:ktr) ij fuo'k di x;h gb :fn
C;kt dh nj gy nk o d fy, 10» ifr o'
vkj rlj o% d fy, 50» ifr 0% g] rk C:kt
fdruk ghxk\

SSC MTS 8/08/2019 (Morning)
(a) ¥ 612 (b) ¥ 655
(c) ¥ 815 (d) X756
How much will a principal of ¥ 5000
invested on compound interest (compounded
annually) amount to, in three years at a
rate of 50% per annum?
pdofys C;ke (okfkd -i 1 b;kfeEr) 1j fuo'k
fd;k x;k 5000 dk ey/u 50» 1fr o' dh nj
I riu o'% e fdruk gk tk,xk\

SSC MTS 16/08/2019 (Evening)
(a) ¥ 16,375 (b) ¥ 11,250
(c) ¥ 16,875 (d) ¥17,275
What is the present value of ¥ 14,739
payable in 3 years at the rate of 6.25%
yearly compound interest?
6-25» okf'kd p@of¥ C;k€ dhinj 1 3 0%k e n;
% 14]739 dh jif"k dk vkt dk eku fdruk g\

SSC MTS 21/08/2019 (Evening)
(a) ¥ 12184 (b) ¥ 12288
(c) ¥ 12473 (d) ¥ 12148
A certain sum invested on compound
interest (compounded annually) grows to
¥5040 in three years. If the rate of
interest is 20% for the first year, 40% for
the second years and 50% for the third
years, then what is the sum?

14.

15.

16.

17.

p@ofYs (ke (okfkd =i 1 1;kftr) ij fuo'k
dh x;h ,d fuf*pr jkf*k riu ok e ¥ 5040 c<
thrh gh ;fn C;kt di nj igy 0% d fy, 20»]
nlj o'k d fy, 40» vk rilj o% d fy, 50»
g] rk ;g jk*k Kkr djA
SSC MTS 7/08/2019 (Morning)
(a) ¥ 1210 (b) ¥ 2566
(c) ¥ 1800 (d) ¥ 2000
Find the compound interest (in Rs) on a
sum of Rs 7,500 for 4 years if the rate of
interest is 20% per annum for the first
two years and 10% per annum for the
next two years. (The interest is
compounded annually.)
# 7]500 dh Zujkf’k ij 4 o'k e ikr p@of¥
C;ke (# e) Kkr dj] ;fn iFke nk o'k d fy,
C;kt nj 20» okf'kd g vkj vxy nk o'k d fy,
C;k€ nj 10» okfkd gh (C;kt dh x.kuk okf'kd
p@ofls vielkj 1j gkrh g)A
SSC CHSL 10/08/2021 (Shift-02)
(a) 6,558 (b) 5,658
(c) 5,586 (d) 5,568
A sum of Rs. 200 is invested at 10% per
annum compound interest (compounded
annually) for 1.5 years. How much
interest will be received after 1.5 years
200 #i; dh jkf'k dk 1-5 o'% d fy, 10» ¢fr
o'k p@of¥s C;kt (okfkd zi 1 I;kftr) ij
fuo'k fd;k tkrk gh 15 Dy ckn fdruk C;kt
feyxk\

(a) Rs. 31 (b) Rs. 21
(c) Rs. 310 (d) Rs. 20

A sum of Rs. 2000 is invested at 10% per
annum compound interest (compounded
annually) for 2.5 years. How much
interest will be received after 2.5 years

2000 #i; dh jki*k dk 2-5 o'k d fy, 10» cfr
o'k p@ofys (;kt (okf'kd -1 1 b;kftr) 1ij
fuo'k fd;k tkrk gh 25 Iy ckn fdruk C;kt
feyxi\

(a) Rs. 541 (b) Rs. 241
(c) Rs. 310 (d) Rs. 2541
The compound interest on a certain sum

1
in 25 years at 10% p.a., interest

compounded yearly, is ¥ 1,623. The sum
is:

[2]
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18.

19.

20.

fdlh fuf*pr jk'k ij 10» ifr o' okfkd p@ofvs
Cskt ot nj 1 z% o' ok pofv C:kt 1623
gt ;0 JK'k g ¥
SSC CGL 4 June/2019 (Afternoon)
(a) ¥ 5,000 (b) ¥ 6,000
(c) ¥ 6,500 (d) ¥ 7,200
What is the compound interest (in Rs) on a

2
sum of Rs 25,000 for 3; years at 10% p.a.,

if the interest is compounded annually?

25000 -i; dh jk'k ij 10» okfkd C:ke nj I
3%0% dk pgofs (ke (5 €) D3k ghxk\ Gkt

okfkd =1 I pQofys fd;k tkrk g
SSC PHASE IX 2022
(a) 9,606 (b) 8,275
(c) 9,516 (d) 8,425
The simple interest on a certain sum for
3% years at 10% per annum is X 2,940.
What will be the compound interest on

1
the same sum for 25 years at the same

rate when interest is compounded yearly
(nearest to a rupee)?

fdlh fuf*pr jkf*k ij 10» ifr o'k dh nj 1 3%

o'k dk BkZkj.k C;kt T2940 gh bh jkf*k 1j blh

nj I 2% o'l dk p@ofs C:kt Kir dj tc

C;kt dn pdof¥ okfkd gi (,d #i; d fudVre)
SSC CGL 1 July 2019 (Evening)

(a) T 2,272 (b) T 2,227

(c) ¥ 2,327 (d) ¥ 2,372

Find the ratio of principal to amount. If

the rate of interest is 163% per annum
3

compounded annually for 11 years.
4

eyeku vkj fedeku dk wvuikr Kkr dift, ;fn

pdof¥s C;kt dh nj 16§% okf'kd rfik le; !
4

o'k gh

21.

22.

23.

24.

(a) 144:175 (b) 144:169
(c) 125:144 (d) 175:144
Find the ratio of principal to amount. If

1
the rate of interest is 125% per annum

compounded annually for 1 year and 2
months.

eyeku vkj fedeku dk wvuikr Kkr dhft, ;fn

1
pdof¥, C;kt dh nj 125% okfkd rFk le; 1

o'k 2 ekg gk

(a) 441:625 (b) 384:441

(c) 400:441 (d) 441:400

Find the ratio of principal to amount. If
the rate of interest is 12% per annum

compounded annually for 2 year and 5
months.

eyeku vkj fedeku dk wvuikr Kkr dift, ;fn
p@ofYs C;kt dh nj 12» okf'kd rfk le; 2 o'
5 elkg g

(a) 9261:8000 (b) 3125:4116

(c) 8000:9261 (d) 4116:3125

What is the compound interest (in Rs) on

2
a sum of Rs 46,000 for 2; years at 15%

per annum, interest being compounded
annually (nearest to a Rs)?

0;ke dh x.kuk offtd p@ofve iZkj ij djr
g,] 15» okfkd C;kt dh nj 1 # 46]000 di

T 2% o'k e 1kir pdofvs (;kt (# e)
Kkr dj (fudVre # rd)A
SSC CHSL 12/08/2021 (Shift-01)
(a) 18,458 (b) 19,458
(c) 19,485 (d) 18,485
Find the ratio of principal to amount. If
the rate of interest is 12% per annum
compounded 5 monthly for 1 year and 3
months.
eyéu vkj fedeku dk wvuikr Kkr dift, ;fn
p@ofy, (;k€ dh nj 12» okfkd (C;kt dh x.kuk
iIf;d 5 ekg 1j gkrh g) rikk le; 1 o' 3 ekg gh
(a) 10000:926 (b) 8000:9261
(c) 21600:9261 (d) 9261:8000
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26.

27.

28.

29.

Find the ratio of principal to amount. If the rate
of interest is 12% per annum compounded 7
monthly for 1 year and 9 months.
eyéku vk fedeku dk wvuikr Kkr dift, ;fn
pdofy, (;kt dh nj 12» okfkd (C;kt dh x.kuk
IR;d 7 ekg ij girh @) rfk le; 1 0% 9 ekg gh
(a) 10000:926 (b) 8000:9261
(c) 21600:9261 (d) 9261:8000

What is the compound interest (in Rs) on

1
a sum of Rs 8192 for IZ years at 15% per

annum, if interest is compounded 5-
montly?

-fn C;kt dh x.kuk 58ekfld p@ofYs Wi/ ij ghrh
g] rk ifr o'% 15» di nj 1 8192 #i; dh jK'k ij

1% o' e ikir p@ofs C;kt (= e) Kir djt

(a) 1,640 (b) 1,740
(c) 1,634 (d) 1,735
What is the difference between the
compound interest, when interest is
compounded 5-monthly, and the simple

1
interest on a sum of ¥ 12,000 for IZ
years at 12% per annum?

% 12000 dh jif*k ij 12» o nj 1 13 0% d

p@ofYs C;kt (5 elg di p@ofva) rRk Bkek.k
C;kt e vrj Kir djA

SSC CHSL 01/07/2019 (Evening)
(a) ¥ 90 (b) ¥91.50
(c) ¥ 93 (d) ¥92.50
What is the compound interest on ¥ 5000
in 2 years at the rate of 20% per annum?
(interest compound half yearly)
25000 ij 20» ifr ok di nj 1 2 o'% dk
pdofys C;kt Kkr dji (C;kt dh nj pdofya
vYaokf'kd g)

SSC MTS 19 August 2019 (Morning)

(a) ¥ 2340.50 (b) ¥2275.50
(c) ¥ 2290.50 (d) ¥2320.50
What will be the compound interest (in
Rs) on a sum of Rs 7,200 for 18 months
at a rate of 20% per annum, if the
interest is compounded half-yearly
(nearest to an integer)?

30.

31.

32.

;fn Gkt dh x.kuk v/Zokf'kd p@ofys - |
(i.kd d fudVre) di xb gk rk # 7]200 d
jK'k ij 20» dh okfkd nj 1 18 egiu d fy,
pdof¥s C;kt (# e) fdruk g\
SSC CHSL 5/08/2021 (Shift-02)
(a) 2,833 (b) 2,383
(c) 3,238 (d) 2,338
The simple interest on a certain sum for
3 years at 12% p.a. is Rs 6,750. What is
the compound interest (in Rs) on the
same sum for 2 years at 20% p.a., if
interest is compounded half-yearly?
(rounded off to the nearest Rs)
,d fuf*pr Zujfk ij] 12» okfkd C:kt nj ij
3 0% d I/Kj.k C;kE dh jkf'k # 6]750 gh mih
Jujk’k ij] 20» okfkd C;kt nj ij 2 o d
p@ofYs C;kt dh jkf'k (# ) fdrun gkxi] ;fn
C;kt v¥olkfkd -1 1 p@ofys fd;k tkrk g\
(fudVre #- e 1.kfdr)
SSC CHSL 12/04/2021 (Shift-03)
(a) 8000 (b) 8702
(c) 6750 (d) 7729
A certain sum becomes Rs. 13650 at 15%
p.a. simple interest after 2 years. What will
be the amount (in Rs.) of the same sum
after 1 year at the same of interest, if the
interest is compound half yearly? (nearest
to a Rs.)
15» okf'kd Ik/kj.k C;kE nj ij] ,d fuf'pr j*k
2 0'k ckn 13650 #1; gk thrh gh leku v¥agokf'kd
pdofys C;kt nj ij ogh jki*k 1 o'k ckn fdruh gk
th,xh (-1; e) fudVre :-i; rd
(a) 13625 (b) 11000
(c) 12134 (d) 10500
Calculate the compound interest on
¥ 15,625 for 2 years at the rate of 12%
p-a., if the interest is compounded 8-
monthly?
12» okfkd nj 1 2 o'% d fy, T15]625 dh
Jkf'k 1j p@of¥s C;kt fdruk g] ;fn C;ke dk
8sekg 1j I;kfer fd;k thrk g\
SSC MTS 22 August 2019 (Afternoon)
(a) ¥ 3075 (b) ¥ 4058

(c) T 3675 (d) T 4088

[4]
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33.

34.

35.

36.

37.

A sum of Rs. 1000 is invested at 10% per
annum compound interest (compounded
annually) for 2 years. How much interest
will be received after two years

1000 #i; dh jkf*k dk nk lky d fy, 10» ¢fr
o'k p@ofvs 3kt (okf'kd -1 1 b;kftr) ij
fuo™k fd;k tkrk gh 2 Bky ckn fdruk C;kE feyx\
(a) Rs. 200 (b) Rs.210

(c) Rs. 211 (d) Rs. 1210

A sum of Rs. 1000 is invested at 20% per
annum compound interest (compounded
annually) for 2 years. How much interest
will be received after two years

1000 #i; dh ji'k dk nk Iky d fy, 20» cfr
o'k p@of¥s C;kt (okfkd =i 1 I;kfEr) ij
fuo™k fd;k tkrk gh 2 Bky ckn fdruk C;kt feyxk\
(a) Rs. 400 (b) Rs. 440
(c) Rs. 432 (d) Rs. 1440
A sum of Rs. 1000 is invested at 7% per
annum compound interest (compounded
annually) for 2 years. How much interest
will be received after two years
1000 #i; db jif'k dk nk Iy d fy, 7» cfr
o pdofs C;kt (okfkd i I ;kftr) ij
fuo™k fd;k tkrk gh 2 Bky ckn fdruk C;kE feyx\
(a) Rs. 150 (b) Rs. 169
(c) Rs. 144.9 (d) Rs. 139
What will be the compound interest on a
sum of ¥ 1200 for 2 years at the rate of
20% per annum when the interest is
compounded yearly?
%1200 1j 20» 1fr o'k dhnj 1 2 o'k dk pdofs
C;kt Kkr dj tc C;kt dh pDofys okf'kd g\

SSC MTS 2 August 2019 (Afternoon)
(a) ¥ 624 (b) ¥ 504
(c) 576 (d) ¥ 528
The compound interest (in Rs, to the
nearest integer) on Rs 8,950 for 2 years
at the rate of 9% per annum, compounded
annually, is:
#- 81950 dh jif"k ij 2 o'k d fy, 9» ifro’k d
fglkc 1 pQofys C;kt (# e] fudVre 1.kd
rd) fdruk gix] vxj bl okfkd zi 1 X.kuk
fd;k tkrk g\

SSC CHSL 12/04/2021 (Shift-02)

38.

39.

40.

41.

42.

(a) 1523 (b) 1683
(c) 1685 (d) 1468
A sum of Rs. 10000 is invested at 2% and
3% per annum compound interest
(compounded annually) for the 1st and
2nd year respectively. How much interest
will be received after two years
10000 #i; dh jkf*k 1gy rfk nlj o% d fy,
@e"kh 2» rik 3» ¢fr o'k pQdofya (;kt (okf'kd
i 1 L;ker) 1j fuo' fd;k thrk gh 2 Tky
ckn fdruk C;kt feyxi\
(a) Rs. 600 (b) Rs. 625
(c) Rs. 506 (d) Rs.515

A sum of Rs. 10000 is invested at 5% and
7% per annum compound interest
(compounded annually) for the 1st and
2nd year respectively. How much interest
will be received after two years

10000 #i; dh jkf*k igy rHk nlj o'% d fy,
@e"kh 5» rik 7» cfr o'k pdof¥ C;kt (okf'kd
i 1 L;ker) 1j fuo' fd;k thrk gh 2 Tky
ckn fdruk C;kt feyxi\

(a) Rs. 1244 (b) Rs. 1032

(c) Rs. 944 (d) Rs. 1235

If the compound interest on a certain
sum of money for 2 years at 5% p.a. is
¥ 328, then the sum is equal to :

-fn 2 0% d fy, 5» ifro' dh nj 1 ,d jk'k

1j pof¥s (3Kt %328 g] rk jk*k Kkr dj
SSC CHSL 26/10/2020 (Morning)

(a) ¥ 3600 (b) ¥ 3500

(c) 3000 (d) ¥3,200

The compound interest for two years at

12% per annum is ¥477. What is the

principal amount (in %) invested?

12» 1fr ok dh nj 1 nk o' dk pQdof¥s (;kt

477 gh fuo'k fdsk x;k ey Zu (Re) Kir dji

SSC MTS 9/08/2019 (Morning)

(a) 1875 (b) 1500

(c) 2000 (d) 1650

If the compound interest is compounded

annually, then what sum will become <

24494.40 in 2 years at the rate of 8%

compound interest?

;fn p@ofys 3kt okfkd -1 1 bjkfer fd;k

thrk g] rk 8» okfkd p@ofys C;kt dh nj |

fdrun JK'k 2 0'% e T 24494-40 gk T, X\

SSC MTS 2019

[5]
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43.

44,

45.

47.

(a) T 21200
(c) T 21000

(b) T 22400
(d) T 22000

Find the compound interest at the rate of 48.

7% p.a. compounded annually for two
years on the principal that yields a
simple interest of ¥ 9450 for 3 years at
7% p.a.?
fdlh jkk ij 7» okfkd nj 1 3 0% d fy, I/
K.k C3kt 29450 g rk 7» okfkd nj I nk o'k d
fy, ml jki*k dk okf'kd 1;kftr p@ofys (;kt
fdruk gkxk\
SSC CPO 15/03/2019 (Evening)

(a) ¥ 12,345.20 (b) ¥6,520.50
(¢) ¥ 10,127 (d) ¥12,678.40
What will be the compound interest on a
sum of ¥ 1200 for 2 years at the rate of
20% per annum when the interest is
compounded yearly?
%1200 1j 20» 1fr o'k dhnj 1 2 o'k dk pdofa
C;kt Kkr dj tc C;kt dh pdof¥s okf'kd g\

SSC MTS 2/08/2019 (Afternoon)
(a) ¥ 624 (b) ¥ 504
(c) T 576 (d) ¥ 528
The compound interest on a certain sum
of money at 11% for 2 years is ¥ 6963. Its
simple interest (in ) at the same rate and
for the same period is :
fdlh fuf'pr j*k ij 11» dh nj 1 2 o% dk
pdof¥, (;kt 6963 gh leku nj 1 leku vof/
d fy, bldk Ik/kj.k C;kt fdruk gixk\

SSC CHSL 8/07/2019 (Afternoon)
(a) ¥ 6500 (b) ¥ 6600
(c) ¥ 6750 (d) ¥ 6000
The compound interest on a certain sum
of money at 21% for 2 years is ¥9,282.
Its simple interest (in ) at the same rate
and for the same period is :
fdh fuf'pr jif*k ij 21» dh nj 1 2 0% ok
pdof¥s C;kt 9282 #i; gh lelu nj 1 leku
vof/ d fy, bldk I/kj.k C;kt Kkr djh

SSC CHSL 8/07/2019 (Evening)

(a) ¥ 8750 (b) ¥ 8400
(c) ¥ 8000 (d) ¥ 8500

The compound interest on a certain sum
of money at 21% for 2 years is ¥ 6,961.5.
Its simple interest (in ) at the same rate
and for the same period is :

fdh fuf'pr ji*k ij 21» dh nj 1 2 0% ok
pdof¥, (;kt T6961-5 gh leku nj 1 rik leku
vof/ d fy, bldk I/kj.k C;kt Kkr djh

SSC CHSL 9/06/2019 (Morning)

49.

50.

51.

(a) ¥ 6300 (b) ¥ 6500

(c) ¥ 6000 (d) ¥6750
A certain sum amounts to Rs 14,641 in 4
years at 10% p.a. when interest is
compounded annually. What will be the

2
amount of the same sum (in Rs) in 3 5 years

at the same rate at simple interest?
,d fuf'pr jif'k 10» cfr o' dh nj I 4 o'% e
141641 #i; ok thrh gh tc C;kt okfkd -i |

I;Kfer ghrk gh Relu jkk oh ik (# e) 32 o

e leku nj 1j M/kj.k C;kE 1j fdruh ghxh\

SSC PHASE IX 2022
(a) 14,000 (b) 13,600
(c) 13,400 (d) 13,200
The simple interest on a sum of money at
10% per annum for 4 years is Rs 3,200.
What will be the amount (in Rs) of the
same sum for the same period at the same
rate of interest when the interest is
compounded annually?
,d Zujkfk ij 10» okfkd C:kt dh nj 1 4 o'%
e ikr Ik/kj.k Cke # 3]200 gh ;fn C:kt okfkd
=1 1 pQdofys) gkrk gk] rk leku jkf*k 1y leku
vof/ e leku C;kt 1 1 1kr fed/u Kkr dift,A
(a) 11,172.80 (b) 11,712.80
(c) 11,127.80 (d) 11,217.80
A certain sum is deposited for 4 years at a
rate of 10% per annum on compound
interest compounded annually. The
difference between the interest at the end
of 2 years and that at the end of 4 year is
Rs. 5082. Find the sum (in Rs.)
dib ji'k okfkd - i 1 p@ofvs gu okyh 10» okfkd
C;kenj ij 4 o'k d fy, tek dn thrh gt 2 0" d
vr e vij 4 0% d vr e feyu oky C;kt d chp
dk vrj -i; 5082 gh og jkk (-1; €) Kkr dift,A
(a) 20000 (b) 25500

(c) 50820 (d) 10164

A sum of Rs. 1000 is invested at 10% per
annum compound interest (compounded

1
annually) for lg years. How much inter-

1
est will be received after lg years.
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52.

53.

54.

1000 #i: dh jik dik 1% Iy d fy, 10»
¢fr o'k pQdofys C;kt (okfkd -1 1 1;kftr)

1j fuo'k fd;k tkrk gh 1% lky ckn fdruk C;kt

feyxi\
(a) Rs. 122 (b) Rs. 120
(c) Rs. 210 (d) Rs. 121

A sum of Rs. 1000 is invested at 12% per
annum compound interest (compounded 5
monthly) for 1 year 3 months. How much
interest will be received after 1 year 3
months.

1000 #i; dh jk*k dk 1 Bky 3 efgu d fy,
10» ¢fr o'k p@ofy C;kt (5 ekg e I;kfEr)
1j fuo’k fd;k tkrk g 1 Bky 3 efgu ckn fdruk
C;kt feyxk\

(a) Rs. 150 (b) Rs. 144

(c) Rs. 139.6 (d) Rs.157.625

A sum of ¥ 2000 is invested at compound
interest (compounded annually). Find the
amount after 30 months, if the rate of
interest is 10% p.a.

%2000 dh jki*k dk p@of¥s C;kt (okf'kd -i |
I;kEr) 1j fuo’k fd;k thrk gh ;fn C;kt dh nj
10» ifr 0% g] rk 30 ekg d ckn feJéku fdruk
gkxk\

SSC MTS 5/08/2019 (Evening)
(a) T 2538
(b) T 2524
(c) ¥ 2541
(d) ¥ 2532

The interest on ¥24,000 in year
compounded annually when the rate are
8% p.a. and 10% p.a. for two successive
years is :

¥ 241000 ij 8» ifr o'k rFkk 10» 1fr o'k dh nj
I okf'kd p@ofys C;kt 1j nk yxkrkj ok dk
C:kt Ker djit

SSC CPO 16/03/2019 (Afternoon)
(a) ¥ 3994 (b) ¥ 4512
(c) ¥ 5040 (d) ¥ 5866
The simple interest on a certain sum at
20% p.a. for two years is ¥ 250. What is
the compound interest (compounded

annually) on the same sum at the same
rate for the same period?

57.

58.

fdlh fuf'pr ji'k ij 20» ifro’k dh Cske nj |
nk o' dk BkZkj.k C;kE 2250 g Beku CikE nj
ij lelu vof/ d fy, lekw jk*k 1j pdofya
C;kt (okfkd - 1 I;kftr) fdruh g\

SSC MTS 5/08/2019 (Evening)
(a) ¥ 275 (b) ¥ 900
(c) ¥ 550 (d) ¥ 750
The simple interest on a certain sum at
the end of three year at 5% p.a. is ¥ 1200.
The compound interest on the same sum

for the same period at the same rate is
(interest compounded yearly) :

fdlh fuf'pr jk'k ij 5» ifr o'k dh nj 1 riu
o' d vr e IW/kj.k C;ke T1200 gh blh jkf'k
ij blh vof/ d fy, bru gh C;k€ nj 1 fdru
p@ofys C;kt dh ikfir g\ (C;kt dk 1;ktu
okf'kd g)

SSC CGL 3/03/2020 (Evening)
(a) ¥ 1800 (b) ¥ 1260
(c) ¥ 820 (d) ¥ 1261
A sum invested at 10% compound

interest per annum becomes ¥ 19,965 in
3 years. The same sum will become ¥x in

2
23 years. If the interest is compounded

annually in both the cases, then find the
value of x?

10» 1fr 0% p@of¥ C;kt nj ij fuof'kr dkb
Jkf*k 3 o'k e ¥ 19]965 gk thrh gh ;oh jki*k Beku

0kt Nj i 2% O e Tx gk kXM ;fn niuk
gh ekeyk e C;ke dk okf'kd zIk 1 B;kftr fd;k
thrk g] rk x dk elu fdruk g\
SSC MTS 20/08/2019 (Afternoon)
(a) ¥ 18,855 (b) ¥ 18,768
(c) ¥ 18,867 (d) ¥ 18,876
What is the difference (in Rs) between the
simple interest and the compound interest

2
on a sum of Rs 8000 for ZE years at the

rate of 10% p.a., when the interest is
compounded yearly?

8000 #i; dh jkf*k 1j 10» okf'kd nj 1 2%0'%
e 1kr Ik/kj.k C;ke vij pdofya C;kt d chp
vrj (- e) Kkr djA

SSC CGL 18/08/2021 (Morning)
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59.

60.

61.

62.

(a) 152.80 (b) 150

(c) 155 (d) 147.20
The simple interest on a sum of ¥ 50,000
at the end of two years is ¥ 4,000. What
would be the compound interest on the
same sum at the same rate for the same
period?
Z 50]000 dh jkf'k ij nk o' d vr e % 4000
dk 1.k C;kt feyrk gh bl jkfk ij bIh nj
1 bl vof/ dk p@of¥s C;kt Kkr i

SSC CGL 07/03/2020 (Morning)
(a) ¥ 8,000 (b) X 4,040
(c) ¥ 4,008 (d) ¥ 4,080
What is the compound interest (in Rs) at
the rate of 10%, compounded annually, for
3 years on the principal which in 8 years

at the rate of 12% per annum gives Rs
4,800 as simple interest?

fdlh ey/u ij 12» okf'kd C;kt nj I 8 o' e
ikir Bk/kj.k C;kt #- 4]800 gh mlh ey/u ij 10»
dh p@of¥s) C;kt dh nj 1] fel ij C;ke okf'kd
=i 1 L;ker ghrk g] 3 o'% e 1kir gku okyk
pdofys) C;kE Kir (# e) dift,A

(a) 1,505 (b) 1,655

(c) 1,455 (d) 2,015
What sum of money is compound interest
will amount to ¥4630.08 in three years
if the rate of interest is 4% for the first

year, 5% for the second year and 6% for
the third year?

pdofyvs C;kt 1j fdl jkf*k dk C;kt riu o'k e
% 4630-08 dk fed/u nxk ;fn C;kt dh nj igy
ok d fy, 4»] nlj o% d fy, 5» vk rilj
ok d fy, 6» g\

SSC CHSL 26/10/2020 (Evening)
(a) ¥4500
(b) T4800
(c) T4000
(d) ¥ 3500

The simple interest on a sum of money at
10% per annum for 2 years is ¥ 8,100.
What would be the compound interest
(in %) on the same sum for the period at
15% p.a. When the interest is
compounded yearly?

63.

64.

2 Iky d fy, ifr 0% 10» dh nj 1 ,d Zu ij
1k/kj .k C;kt % 8]100 gh 15» ifr o'k dh nj 1
blh vof/ d fy, blh jkf'k 1j pQof¥ (;kt
(X e) fdruk gixk] ;fn C;kt okfkd - 1 I;ktr

gkrk g\

(a) 13,061

(b) 8,100

(c) 14,671

(d) 12,751

If the difference between the compound

interest and simple interest at 17% on a

sum of money for 2 years (compounded

annually is ¥433.50 then the compound

interest (in ) is :

;fn o, d Zujkfk 1) 17» dhonj 1 2 0% e ikir

pP@ofYa C;kt wkj I/Kj.k O3kt dk vrj (okfkd

I;ktu) ¥ 433-50 g] rk pdof¥s C;kt Kkr djh

SSC CHSL 2019 24/11/2020 (Morning)

(a) 5,333.50

(b) 2,735.50

(c) 5,100

(d) 2,500
The difference between compound interest
compounded annually and simple interest
on a certain sum at a rate of 15% per
annum for 2 years is Rs 1,944. Find the
compound interest compounded annually
(in Rs) on the same sum for the same
period at a rate of 10% per annum.
fdlh jkf*k 1j 15» okf'kd C;ke nj 1 2 o'% d
okfkd -1 1 pdofys) gku oky p@of¥s) C;kt
vkl Ik/kj.k Gkt d chp dk vrj # 1]944 gk
bIh jk'k ij bIh vof/ d fy, 10» okfkd C:kt
nj 1 ikir gku okyk p@ofya) (k& (# e) Kikr
dft,] ;fn C;kt okf'kd -1 1 1;kEr gkrk gh
(a) 18,060 (b) 27,216
(c) 18,144 (d) 20,500

What is the compound interest on a sum

2
of ¥ 7200 for 23 years at 20% p.a.,

interest compounded yearly (nearest to an
integer)?

z 7200 dh jkF'k ij 20» ifr o'k dh nj | zg

o' dk pdofvs C;kt Kir dj] feldh p@ofvs
okfid gt (,d i.kd d fudvVre)

SSC CGL Tier-I1I 12/09/2019
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67.

68.

69.

(a) T 4,290
(c) T 4,205

(b) ¥ 3,960
(d) T 3,997

The compound interest on a sum of 70

2
¥ 20,000 at 15% p.a. for 25 years,

interest compounded yearly is :

2% o'% d fy, T 20]000 ij 15» dh nj I
pdof¥, (;kt Kkr dift,] ;fn C;kt dk 1;ktu

okf'kd gh

(a) ¥ 9,098
(b) ¥ 9,095
(c) ¥ 8,896
(d) ¥ 9,000

A certain sum amounts to ¥ 4205.55 at

2
15% p.a. In 2; interest

compounded yearly. The sum is :

,d fuf*pr jiF'k 15» ifr o’ di nj 1 2% 0'lk
e ¥ 4205-55 gk tkrh g] tc (;kt dh pdof¥s
okf'kd gh ;g jk*k g %

(a) ¥ 3,200 (b) X 3,500

(c) ¥ 2,700 (d) ¥ 3,000
What is the compound interest on a sum

years

S5
of ¥ 10,000 at 14% p.a. for 2;

where the interest is compounded yearly?
(nearest to ¥ 1)

¥10000 dh jkf*k 1j ifr o'k dh nj 1 22 0'kk
dk pQofys C;kt Kkr dj] tc C;kt dh pdof¥s

okf'kd gh
SSC CGL 06/06/2019 (Afternoon)

(a) T 4,259 (b) X 4,296
(c) T 4,439 (d) T 4,394

years

A certain sum amount to ¥ 29,282 in 4
years at 10% per annum when the
interest is compounded annually. What is
the simple interest on the same sum for
same time at the same rate?

,d fuf'pr jkf*k 10» ifr o'k dh nj I 4 o'k e
¥ 29]282 gk tkrh g] tc C;kt dh pBofys okf'kd
gt bl ik i bl nj 1 bru gh le; dk Tkl .k
C:kt Kir dj

71.

72.

73.

(a) ¥ 8500 (b) ¥ 8000

(c) ¥ 7600 (d) ¥ 8400

A principal increases 21% with compound
interest in two years. Calculate the
simple interest for 4 years on ¥ 1000 at
the same rate of interest?

dib ey/u p@ofvs C;kt d IkFk 2 0%k e 21»
c< thrk gh 1000 1j leku C;kt nj 1 4 o'k e
1k/kj .k C;kt fdruk gkxk\

SSC MTS 14/08/2019 (Morning)
(a) ¥ 320 (b) X 400
(c) ¥ 360 (d) ¥ 420
A principal increases 50% at simple
interest in 5 years. What will be the

compound interest on ¥ 20000 for 3 years
at the same rate?
dib ey/u Ik/kj.k C:kt nj ij 5 o'% e 50»
c< tkrk gh leku C;k€ nj d IkFk 20000 1j 3
o'l d fy, p@of¥s C;kt fdruk gixi\

SSC MTS 16/08/2019 (Evening)
(a) ¥ 6620 (b) ¥ 3310
(c) ¥ 5760 (d) ¥ 2800
The compound interest on a certain sum
for 3 years at 15% p.a. interest
compounded yearly is ¥ 4,167. What is
the simple interest on the same sum in

4
4; years at the same rate?

fdlh fuf*pr jkf*k 1j 15» ifr o'k dh nj 1 3
o'k dk p@of¥ (;kt (okf'kd pQdofys) T 4]167

gt bl jK'k ij blh nj 1 4% o'k ok Ti/kj .k
C:kt Kkr djit

(a) ¥ 6,144 (b) ¥ 6,000

(c) ¥ 4,800 (d) ¥5,760

The compound interest on a certain sum
of money at 21% for 2 years is ¥ 11,602.5.
Its simple interest (in ) at the same rate
and for the same period is :

fdh fuf'pr ji'k ij 21» dh nj 1 2 o'% dk
pdofys C;kt ¥ 11]602-5 gh bl nj 1 blh vof/
d fy, bldk I/kj.k C;kt (Ze) Kir dj

(a) ¥ 10,750 (b) ¥ 16,000

(c) ¥ 12,500 (d) ¥ 10,500
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74.

78S.

76.

77.

78.

A sum of ¥18,000 is invested for 16
mounths at 8% per annum compounded
half-yearly. What is the percentage gain at

181000 dh jKf'k 8» ifr O'k V¥iokfkd p@ofva
1j 16 eguk d fy, fuo'k dh tkrh gh ifrir
ykHk Kkr djA

SSC CPO 12/03/2019(Evening)
(a) 9% (b) 11%
(c) 10% (d) 12%
A sum of ¥12,000 is invested for 15
months at 10% per annum compounded
half yearly. What is the percentage
gain ?
2121000 di ,d jkf'k 15 eig d fy, 10» ifr
o'k v¥sokfkd p@of¥s 1j fuo’k dh tkrh gh 1frkr
ykHk Kkr djA

SSC CPO 13/03/2019(Morning)
(a) 13% (b) 13.1%
(c) 12.8% (d) 12.9%
What will be the compound interest on a

sum of ¥31,250 at 12% compound
interest (interest compounded yearly) in

2
2 3 years?

231]250 dh ,d jif*k ij 12» o nj | 2%
o'k dk p@of¥s C;kt (okfkd -i 1 I;kftr)
fdruk gixi\

SSC MTS 19/08/2019 (Evening)
(a) ¥ 11,048 (b) ¥ 11,096
(c) ¥ 11,068 (d) ¥11,086
What is the compound interest on a sum

5
of ¥ 12,000 for 2§ years at 8% p.a. when

the interest is compounded annually.

212000 dh jkF'k ij 8» ifr o'k dh nj I zg

o'k dk p@ofys C;kt fdruk gkxk tc C;kt dk

I;ktu okfkd fd;k tkrk g\
SSC CGL 4/03/2020 (Morning)

(a) ¥ 2,697 (b) 2,654
(c) ¥ 2,712 (d) 2,642
On what amount, the interest

compounded semi-annually at 12% per
annum for one year is ¥ 1545?

fdl jkf'k ij ,d o'k d fy, 12» ifr o'k dh nj
1 Vv¥olfid 1;kftr p@ofYs (;kt % 1545 g\
SSC CPO 14/03/2019 (Evening)

79

(a) ¥ 12,500 (b) ¥ 25,750

(c) ¥ 24,300 (d) ¥12,875

If the compound interest at 10% p.a.
1

compounded half-yearly for 15 years is

¥ 2,522. The principal amounts is :
;fn 10» ifr o'k p@ofya C;kt vvaokfkd i |

1% o'l d fy, T2]522 g rk ey/u D:k god

SSC CPO 16 March June/2019 (Morning)
(a) ¥ 18,500 (b) ¥ 20,000
(c) ¥ 15,400 (d) ¥ 16,000

80. A sum of ¥ 10,000 is invested for 17 months

81.

82.

83.

(a) 12.0%
(c) 12.4%

at 8% per annum compounded half yearly.
What is the percentage gain at the end of
17 month, nearest to one decimal place?

¥ 10]000 dh ,d jkf*k dk 17 elg d fy, 8% ifr
o'k vekokf'kd p@ofvs ij fuo’k fd;k] thrk gh 17
ekg d vr e yiH 1frikr Kkr djh

(b) 12.2%
(d) 11.8%
20000 is invested on compound interest
(compounded half yearly) at the rate of

20% per annum, then what will be the
interest after two years?

Z20000 dh jki*k 20» ifr o'k dh nj 1 pQof¥s
C;ke (v¥aokfkd -1 1 b;kfer) 1j fuo'k dh
X;h gh nk o'k d ckn C;kE fdruk ghkxk\

SSC MTS 7/08/2019 (Afternoon)
(a) ¥ 8800 (b) T 8824
(c) T 9282 (d) T 9428

A sum of ¥ 1200 is invested at compound
interest (compounded half yearly). If the
rate of interest is 10% per annum, then
what will be the amount after 18
months?

% 1200 dh jk'k pQofya C;ke (v/okfkd -1 1
I;ktr) ij fuo’k dh x;h @b ;fn C;kE dh nj 10»
iIfr o'k g] rk 18 elg d ckn fed/u fdruk gxk\

SSC MTS 08/08/2019 (Evening)7

(a) ¥ 1389.15 (b) ¥1185.45
(c) ¥ 1563.25 (d) ¥ 1295.35
If the rate of compound interest,
compounded half yearly, is 20% per

annum, then calculate the interest to be
paid on ¥ 100000 for 2 years.
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84.

85.

86.

87.

;fn p@of¥a C;kt nj 20» ifr o'k g] v¥sokf'kd
Zi 1 I;kfer] rk 100000 d ey/u ij nk o'k
dk C;kt fdruk ghxi\

SSC MTS 14/08/2019 (Morning)
(a) ¥ 46,410 (b) ¥ 44,000
(c) ¥ 21,000 (d) ¥ 33,100

What is the effective annual rate of
interest corresponding to a rate of 10%
per annum compunded half-yearly?

10» 1fr o'k (v%okf'kd -1 1 b;ker) dh nj
I Ixr iHkon okf'kd C;kt nj fdruh gkxh\

SSC MTS 14/08/2019 (Afternoon)
(a) 10.75%
(b) 10.5%
(c) 10%
(d) 10.25%
What is the difference between the
compound interest on ¥ 10000 fo 2 years

at 20% per annum when the interest are
compounded half yearly and yearly?

210000 dh jkf'k ij 2 0% d fy, 20» okfkd
nj ij pdofys C;kek e D;k vrj g] tc C;kek
dk Ge'lh vviokf'kd vk okfkd -1 1 1;kftr
fd;k thrk g\
SSC MTS 14/08/2019 (Afternoon)
(a) ¥ 440 (b) ¥ 241
(c) ¥ 441 (d) ¥ 240
What is the difference between the
compound interest (in Rs) compounded

yearly and compounded half yearly for 18
months at 20% per annum on a sum Rs

12,000?

C;ke dh x.kuk okf'kd wvkj v¥a&okf'kd p@dofya
Vi/kj ij db trh g] rk o' 20» dh nj ij] 12000
#i; dh ji'k ij 18 egu e ikr p@of¥ C;kt d
chp vrj (- e) Kkr djA

(a) 145 (b) 165

(c) 121 (d) 132

The difference in the compound interest
on a certain sum at 10% p.a. for one year,

when the interest is compounded half
yearly and yearly, is ¥ 88.80. What is the

2
simple interest on this same sum for 15

years at the same rate?

88.

89.

90.

fdIh fuf*pr jk*k ij 10» ifr o'k dh nj 1 ,d
o'k d pQdof¥s C;kt e T 88-80 dk vrj wvirk g]
tc (kt dk b;ktu v%okf'kd wvkj okf'kd fd;k

thrk gh bIh Kk §j bIh nj 1 1% o'k dk
Bkekkj -k C;kE fdruk ghodk\

SSC CGL 4/03/2020 (Afternoon)
(a) ¥ 5,916 (b) ¥ 5,986
(c) ¥ 5,980 (d) ¥5,920

What will be the difference in compound
interest on a sum of ¥ 7,800 at 8% for 1
year, when the interest is paid yearly and
half yearly?

271800 o ji'k ij 8» dinj 1 1 o d pPofa
C;kt e fdruk vrj gixk] ;fn C;kt dk Hxrku
okf'kd rrk v¥aokf'kd -1 1 fd;k thrk g\

SSC CGL 6/03/2020 (Morning)
(a) ¥ 24.72 (b) ¥ 12.48
(c) ¥ 29.18 (d) ¥ 19.46
A certain sum amounts to ¥ 15,500 in 2

years at 12% p.a. simple interest. The

1
same sum will amount to what in 15

years at 10% p.a., if the interest is
compounded half yearly (nearest to¥ 1)?

dib fuf*pr jkf'k 12» okf'kd Bk/kj.k C;kt dh
nj 1j 2 o'k e ¥ 15]500 gk tkrh gh ;fn C;kt dh
X.kuk v¥iokfkd p@ofvs wvik/kj i1y dh thrh g]

rc lelu ji'k 10» okfkd nj ij o'k 1% o' e
fdrun gk €, x\ (1 d fudVre eku)

(a) ¥ 14,470

(b) ¥ 13,460

(c) ¥ 14,360

(d) ¥715,125

The compound interest on a sum of Rs.
5,500 at 15% p.a. for 2 years, when the
interest compounded 8 monthly is:

Z 5]500 dh jk'k ij okfd 15» dinj I 2 0% e
ikir p@ofys (;kt Kkr dift,] tc C;kt dh x.kuk
g) 8 egu 1j pdofya vi/kj 1j dh thrh gh

SSC CGL Tier-II 15/11/2020

(b) ¥ 1,820.50
(d) % 1,850

(a) T 1880
(c) ¥ 1,773.75
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91.

92.

93.

94,

95.

What will be the compound interest
(nearest to ¥ 1) on a sum of ¥ 25,000 for
2 years at 12% p.a., if the interest is
compounded 8-monthly?

T 25]000 1j 12» ifr o'k dh nj 1 2 o'k dh
p@of¥s C;kt D;k gkxk ;fn C;kt dh pdof¥ 8
ekg dh g\

SSC CGL 4/06/2019 (Evening)
(a) ¥ 6,394 (b) ¥6,439
(c) ¥6,493 (d) ¥6,349
What is the compound interest on a sum

1
of T 4,096 at 15% p.a. for 25 years, if the

interest is compounded 10-monthly?

241096 ij 15» ifr o’k dh nj I z% o' di

pdof¥ C;kt Kkr dj ;fn C;kt dh pdof¥ 10
ekg dh g

(a) ¥ 1,726 (b) ¥ 1,736

(c) ¥1,636 (d) ¥1,763

What will be the compound interest on a
sum of ¥ 31,250 for 2 years at 12% p.a.,
if the interest is compounded 8-monthly?
Z 31]250 o ,d jK'k ,d jkk ij 12» ifr o'k
dinj 1 2 o'% dk p@ofvs C;kt Kir dj] ;fn
C;kt dh pQofys 8 ekg dh gh

(a) ¥ 8106 (b) ¥ 8116

(c) ¥ 8016 (d) ¥ 8156
What is the compound interest on a sum

1
of ¥ 8,100 for 12 years at 8% per annum,

if the interest to compounded 5-montly
(Nearest to ¥ 1)

z 8100 di jif*k ij 8» ifr o'k o nj I 1%
o'l dk p@of¥s C;kt Kkr dj] ;fn Okt db
pdofys 5 ekg dh gh (X 1 d fudVre)

SSC CGL 7/06/2019 (Evening)
(a) ¥ 837 (b) ¥ 873
(c) ¥ 842 (d) ¥ 824
A certain sum is invested on compound
interest at 18% per annum for 1 year 4
months, the interest being compounded 8

monthly. If the compound interest is Rs
3816, then find the sum (in Rs.).

96.

97.

98.

99.

,d fuf'pr &ujif'k dk 18» okfkd p@of¥s (;kt
dhnj ij 1 0% 4 ekg d fy, fuof*kr fd;k tkrk
o] fEl ij C;kt dh x.kuk 8 elfld p@ofs VIdkj
ij dh thrh g ;fn iklr p@o¥a C;kt #1; 3816
g] rk fuof*kr ekujkfk (=- €) Kir dift,h

(a) 15,000 (b) 14,800

(c) 14,580 (d) 15,500

The principal amount of Rs.100 becomes
equal to Rs. 121 in 2 years at a certain

rate of compound interest per annum.
Find the interest rate.

100 #i; dh ey jki"k ¢fr o'k p@of¥s C;kt dh
,d fuf*pr nj ij 2 o'k e 121 #i; d cjkcj
gk tkrh gh C;kt nj Kkr dift;A
(a) 10% (b) 5%
() 21% (d 11%

A sum of Rs. 6,400 invested on the basis

of yearly compounding of interest, grows to
Rs. 7,056 in two years. What is the

percentage rate of interest?

# 6]400 dh ji*k ok okfkd p@ofva C;kt d viel
1j fuo™ fd;k x;k vkj ;g jkf*k nk o'k e # 7]056
gk xbh C;ke dh 1frikr ny fdruh Fie\

(a) 4 (b) 7.5

(c) 5 (d) 6.25

A sum invested at compound interest amounts
to Rs. 7,800 in 3 years and Rs. 11,232 in 5
years. What is the rate per cent?

p@ofYs C;kt ij fuo'k di b ,d jKfk ij 3 o'%
e Ikr fed/u %7]800 vkj 5 o'k e 1ikir fed/u
T11]232 gh 1frkr C;kt nj Kkr dhft,A

(a) 26% (b) 20%

(c) 15% (d) 18%
The compound interest and the amount
obtained, on a certain sum of money are
¥ 820 and 8820 respectively after 2 years.
If the rate of interest compounded yearly,
then the rate of interest is :
,d fuf'pr jki*k 1j 2 lky ckn p@of¥% (;kt
Vvikj 1kr Jkf'k @e’kh T 820 vikj % 8]820 gh ;fn
C:kt dhnj okfkd zi 1 I;ktr g] rk C;ke o
nj gk

SSC CHSL 13/10/2020 (Evening)
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(a) 8%
(c) 5%

(b) 6%
d) 7%

100. At what rate percentage per annum will Rs

101.

102.

103.

14,400 amount to Rs 15,876 in one year,

if interest is compounded half-yearly?

;fn O3kt v/8&okfkd pdofys g] rk fdl nj ifrikr

ifr o' ij 141400 dh Zujif*k c<dj 15]876 gk tk,x\
SSC PHASE IX 2022

(a) 15%

(b) 12%

(c) 10%

(d) 8%

A sum of Rs 9500 amounts to Rs 11495 in

2 years at a certain rate percent per

annum, interest compounded yearly. What

is the simple interest (in Rs) on the same
sum for the same time and double the

rate?
9500 #1; dh jkf*k 2 lky e 11495 #i; gk thrh
g] .d fuf*pr nj ¢fr*r ¢fr o] C;kt okf'kd :-i
I L;ker grk gh leku jkf*k 1j Beku le; wvikj
nxuh nj i Ik/kj.k C;k€ (# e) fdruk g\

SSC CGL 2020

(a) 3420 (b) 3990
(c) 3800 (d) 4560
The principal amount of Rs.1000 becomes

equal to Rs. 1331 in 3 years at a certain
rate of compound interest per annum.
Find the interest rate.

1000 #i; dh ey jkf*k ¢fr o p@dof¥s C;kt dh
,d fuf*pr nj 1j 3 o'k e 1331 #i; d cjkcj
gk thrh gh C;kt nj Kkr dif;A

(a) 5% (b) 10%

(c) 15% (d) 30%

The principal amount of Rs. 2160
becomes equal to Rs. 3430 in 3 years at

a certain rate of compound interest per
annum. Find the interest rate.

2160 #i; dh ey jk'k ¢fr o' p@ofya C;kt dh
,d fuf*pr nj 1j 3 o'k e 3430 #i; d cjkcj
gk thrh gh C;kt nj Kkr dift;A

1
() 83% (b) 15%

(c) 12%% (d) 16%%

104.

105.

106.

107.

108.

The principal amount of Rs.24,000
becomes equal to Rs. 40,560 in 2 years at
a certain rate of compound interest per
annum. Find the interest rate.

241000 #i; dh ey jk'k ¢fr o'k pdofys C;kt
dh ,d fuf'pr nj ij 2 o' e 40]560 #i; d
cjkcj gk thrh gh C;kt nj Kkr diftc;A

(a) 20% (b) 35%

(c) 30% (d) 25%

At what rate percent per annum, a sum of

¥ 6000 will become Y 7986 in 3 years, if
the interest is compounded annually?

6000 dh jki*k 3 o' e fdru ifrikr ifr o%
1j 7986 gk th,xh ;fn C;kt okfkd -1 1 I;ktr
dh thrh g\

SSC MTS 9/08/2019 (Evening)
(a) 10% (b) 8%
(c) 12.5% (d 11%
A sum of ¥ 3600 invested on compound
interest becomes ¥4900 in 2 years.

(interest is compounded annually) What
is the rate of interest per annum?

pdofys C;kt 1j fuof*kr ¥ 3600] 2 0%k e ¥ 4900
gk thr g (C;kt okfkd -1 1 D;kfEr)h ifro'k
C;kt nj fdruh g\

SSC MTS 19/08/2019 (Afternoon)

(a) 18%% (b) 17%%

(c) 15%% (@ 2 16%%

At what rate per cent per annum will a
sum of ¥ 15,625 amount to ¥ 21,952 in
three years. If the interest is compounded
annually?

ifr o'% fdl C;kt nj 1] ¥ 15]625 dh ,d jkf*k
ru o'l e ¥ 21952 gk tk,xi] ;fn C;kt dk 1;ktu

okf'kd g\
(a) 12% (b) 8%
(c) 9% (d) 10%

The compound interest on ¥ 4000 after 3
years is ¥ 630.50. The the rate of interest
compounded yearly is :
3 lky ckn ¥ 4000 ij pdofys C;kt ¥ 630-50
gt filj okfkd C;kt dh nj g ¥

SSC CHSL 15/10/2020 (Morning)
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109.

110.

111.

112.

(a) 7% (b) 5%

(c) 8% (d) 6%

A sum of ¥ 12,000 amounts to ¥ 20,736
in 3 years at a certain rate percent per
annum, interest compounded annually.
What will the amount of the same sum be
in 2 years at the same rate on compound
interest?

T 12]000 dh jkf*k ifr o% ,d fuf*pr nj 1 3
o'k e ¥ 201736 gk tirh g fele (;kt dh pdofvs
okftd gh ;g ji'k p@of¥s 3kt dh bl nj I nk
o'k e fdruh gk tk,xh\

SSC CGL 10/06/2019 (Morning)
(a) ¥ 15,640
(b) ¥ 17,820
(c) ¥ 17,280
(d) ¥ 14,520
¥ 60000 invested at a certain rate for a
certain even number of years, compounded
annually, grows to ¥ 63,654. To how much

amount would it grow if it is invested at
the same rate for half period?

,d fuf*pr nj 1j le I[;kd o% d fy, fuo™

fd; x, ¥ 60000 okf'kd p@of¥s 1j c< dj

T 63]654 gk thr gh ;fn ;g jki"k vk/h vof/ d

fy, fuo’k dh &,] rk ;g c< dj fdruh gk t,xi\
SSC CHSL 04/07/2019 (Aternoon)

(a) T 61800 (b) T 61809

(c) ¥ 61675 (d) ¥ 61827

An amount becomes three times of itself
on compound interest (compounding
annually) in 4 years. In how many years
at the same rate on compound interest
(compounding annually) it will become 9
times of itself?

,d jkf*k pdofya C;kt 1j (okfkd I;ktu ij) 4
o' e Lo; dh riu xuk gk x;M letu nj 1 pQdofya
C;kt 1j (okf'kd B;ktu ij) ;g jk'k fdru o'k
e Lo; dh 9 xuk gk tk,xI\

(a) 4 (b) 8

(c) 6 (d 12

An amount becomes 27 times of itself on
compound interest (compounding

annually) in 9 years. In how many years
at the same rate on compound interest
(compounding annually) it will become 81
times of itself?

113.

114.

115.

116.

,d Jki*k p@ofys C;kt 1) (okf'kd I;ktu ij) 9
o'k e Lo; dh 27 xuk gk x;M leku nj 1 pdofs
C;kt 1j (okf'kd I;keu ij) ;g jk*k fdru o'k
e Lo; dh 81 xuk gk tk,x\

(a) 18 (b) 27

(c) 12 (d) 9

An amount becomes 27 times of itself on
compound interest (compounding

annually) in 15 years. In how many years
at the same rate on compound interest
(compounding annually) it will become 81
times of itself?

,d jkf'k pQ@ofys C;kt ij (okfkd 1;ktu ij)
15 o'k e Lo; dh 27 xuk gk x;m Beku nj |
pdofys C;kt ij (okf'kd D;ktu ij) ;g jkk
fdru o' e Lo; dh 81 xuk gk tk,x\

(a) 15 (b) 30
(c) 45 (d) 20
An amount becomes 27 times of itself on
compound interest (compounding

annually) in 300 years. In how many
years at the same rate on compound
interest (compounding annually) it will
become 81 times of itself?

.d jif'k p@of¥ ¢kt ij (okfkd Iktu ij)
300 o% e Lo; dh 27 xuk gk x;M Deku nj |
pgofvs C;kt ij (okfkd Isktu ij) ;g jk'k
fdru o'k e Lo; dh 81 xuk gk tk,xh\

(a) 300 (b) 400

(c) 900 (d) 1200

An amount becomes 125 times of itself
on compound interest (compounding
annually) in 30 years. In how many years
at the same rate on compound interest

(compounding annually) it will become
625 times of itself?

.d jif'k p@of¥ C:kt ij (okfkd I:keu ij)
30 o'k e Lo; dh 125 xuk gk x;m leku nj |
p@ofvs C:kt ij (okfkd Izktu ij) ;g jk'k
fdru o' e Lo; dh 625 xuk gk tk,xh\

(a) 30 (b) 60

(c) 40 (d) 120

An amount becomes 125 times of itself
on compound interest (compounding
annually) in 30 years. In how many years
at the same rate on compound interest

(compounding annually) it will become 5
times of itself?
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117.

118.

119.

120.

,d jif'k p@of¥ C;kt ij (okfkd 1:ktu ij)
30 o'k e Lo; dh 125 xuk gk x;m leku nj |
pdofYs C;kt ij (okfkd Iiktu ij) ;g ji'k
fdru o'% e Lo; dh 5 xuk gk tk,x\

(a) 10 (b) 15

(c) 20 (d 5

A sum of money becomes 3 times in 10
years at the rate of compound interest

(compounded annually), In how many
years will it become 243 times?

dib jkf'k p@of¥s C;kt (okfkd p@of¥s C;kt)
dh nj 1 10 o'k e frxuh gk tkrh gh ;g fdru
o'k e 243 xuk gk tk,xh\

SSC MTS 2/08/2019 (Evening)
(b) 50 years
(d) 30 years
If the difference between simple and
compound interest on a sum of money for

2 years at 5% p.a. is ¥ 125, the sum (in )
is:

;fn fd b jkE*% 1 5» ifr o% dh nj I nk o'
d W/kj.k vkj p@ofys C;kt e T125 dk vrj
g] rk ;g jkf'k (Re) gh

(a) 40 years
(c) 35 years

SSC MTS 14/08/2019 (Evening)
(a) T 50000 (b) ¥ 5000
(c) T 10000 (d) ¥ 1000

The difference between the compound
interest and simple interest on ¥ x at 8%
per annum for 2 years is ¥ 19.20. What
is the value of x?

8» 1fr o' dhinj 1 T x 1j 2 o'k d pDof¥s
C;kt wkj Bk/kj.k C;kt e 1920 dk vrj gh =
dk eku D;k g\

SSC CGL 11/06/2019 (Afternoon)
(a) ¥ 2,500 (b) ¥ 3,200
(c) ¥ 2,800 (d) ¥ 3,000
The difference between the compound
interest and simple interest on ¥ x at 8%

per annum for 2 years is ¥ 48. What is the
value of x?

g x ij 8 ifr o'k di nj 1 2 0'% d pDofs
C:kt Wkj I/Kj.k Okt e 48 dik vrj gh x ok
eku Kkr djh

SSC CGL 12/06/2019 (Afternoon)
(a) 8,000 (b) 7,500
(c) 7,400 (d) 7,800

121.

122.

123.

124.

The difference between the compound
interest and the simple interest on a sum
at 10% p.a. for three years is ¥ 155. The
sum (in %) is :
fdlh jkf*k 1j 10» 1fr o'k dh nj 1 riu o'k d
PDofYs 03kt wkj Ik/Kj.k C3kte % 155 ok vrj
gh ;o Jkik Re)gh
SSC CHSL 11/07/2019 (Afternoon)
(a) ¥ 5,500 (b) ¥ 6,000
(c) ¥6,600 (d) ¥ 5,000
If the difference between the compound
interest compounded annually and the
simple interest on a certain sum of money
for three years at 10% per annum is Rs
279, then the sum (in Rs) is:
;fn . d fuf*pr Zujkf*k ij] riu o'k d fy,
10» okf'kd nj 1 okfkd zi 1 p@of¥ gu
okyk C;kt vk Bk/kj.k C;kt dk vrj -1; 279
g] rk og Zujkf*k (-i; e) Kkr djh
SSC CHSL 4/08/2021 (Shift-03)
(a) 9000 (b) 10000
(c) 8000 (d) 7500

A sum becomes Rs.9000 on compound
interest (compounded annually) after six
year. This sum becomes Rs.13,500 on
compound interest (compounded
annually) at the same rate after 9 years.
What is the principal amount?

,d Jkf*k Ng o' d ckn p@ofén C;kt (okf'kd
pdctys ) i1j 9000 z1; gk thrh g ;g jk'k 9
o' ckn leku nj 1j p@cf¥% C;kt (okf'kd
pdctys ) 1j 13500 #1; gk thrh g ey/u D;k
o\ \

(a) Rs. 6000 (b) Rs. 4000

(c) Rs. 4500 (d) Rs. 5000

A sum amounts to ¥ 8,028 in 3 years and
to ¥ 12,042 in 6 years at a certain rate
percent per annum, when the interest is
compounded yearly. The sum is:

dib jk*k C;kt dh okfkd p@ofya ij ifr o'k
,d fuf*pr nj 1 3 o'kk e 8028 =1; rik 6
o' e T 12042 gk thrh gk ;g jkf*k gh

SSC CGL 04/06/2019 (Morning)
(a) T 5,352 (b) ¥ 5,235
(c) 5,325 (d) ¥ 5,253
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125.

126.

127.

128.

A sum amounts to ¥ 18,600 after 3 years
and to ¥ 27,900 after 6 years, at a certain
rate percent p.a., when the interest is
compounded annually. The sum is :
,d jkf*k ifr o'% fdlh fuf*pr nj 1 3 o% e
¥ 18]600 rFik 6 o'k e ¥ 27]900 gk tkrh g] tc
C;kt dh pQofys okf'kd gh ;g Jkik Kkr djA
SSC CGL 7/06/2019 (Morning)
(a) ¥ 11,800
(b) ¥ 12,400
(c) ¥ 14,400
(d) ¥ 14,600
A sum of money becomes Rs 11,880 after
4 years and Rs 17,820 after 6 years on
compound interest, the interest is
compounded annually. What is the half of
the sum (in Rs) ?
,d Zujkf*k p@ofvs C;kt 1j 4 0% ckn 11]880
#1; Vi 6 0% ckn 17]820 #1; gk tkrh g] C;kt
okfkd -1 1 b;kfer gkrk gh Zujkfk dk wi/k
(#i; e) D;k o\

SSC CGL MAINS 29/01/2022

(a) 2,750 (b) 2,530
(c) 2,640 (d) 2,410
If an amount becomes ¥ 4000 after two

years and ¥ 6000 after four years at the
same rate of compound interest
(compounded annually), what is the amount?

;fn dkb jki*k p@ort C;kt (okf'd 1;kfer) dh
leku nj I nk 0% 1°pkr T 4000 rFk pkj o'
1'pkr T 6000 gk tkrh g] rk jkf*k fdruh g\

SSC MTS 02/08/2019 (Afternoon)

(a) T 2888.8

(b)  2666.66
(c) T 2777.77
(d) T 2866.66

A sum invested at compound interest
(compounded annual) amounts to ¥ 750 at
the end of first year and ¥ 900 at the end
of second year. What is the sum?

pdofys (;kt (okf'kd p@ofya) 1j fuo’k dh x;h
dkb jkf*k 1gy o'k d vr e 750 vkj nlj o'k
d vr e 900 gk tkrh gk ;g jk"k fdruh g\
SSC MTS 5/08/2019 (Morning)
(b) T 625
(d) T 650

(a) T 700
(c) T 600

129.

130.

131.

132.

A certain amount of ¥ 2400 after 6 years
at a certain rate of compound interest
(compounded annually) is ¥ 3600. What
will be the amount after 12 years at the
same rate of interest?

2400 dh jki'k pQofya C;kt (okfkd :-i |
1;kftr) dh fdih fuf*pr nj 1 6 o'k e T 3600
gk tkrh gh blIh C;k€ nj 1 12 0% ckn fed/u
fdruk gkxi\

SSC MTS 6/08/2019 (Evening)
(a) ¥ 6000
(b) T 4800
(c) T 5400
(d) T 4500

A certain sum invested on compounded
interest grows ¥ 8000 and ¥27,000 in
three and six years, respectively when the
interest is compounded annually. What is
the percentage rate of interest?

p@ofYs C;kt ij fuo'k di x;h ,d fuf'pr ji'k
riu vkl Nb o'k e @e'kh 8000 vkj % 27]000
c< tkrh g tc (;kt dh pdof¥ okf'kd gh C;kE
dk nj ifr*kr D;k g\

SSC CHSL 9/07/2019 (Evening)
(a) 25% (b) 0.5%
(c) 50% (d) 10%
If a sum amounts to ¥ 2,190 in four years
and 32,409 in five years at compound

interest, when the interest is compounded
yearly, then the annual rate of interest is:

:fn dkb jif'k p@ofvs ikt ij pkj o'k e
%2190 rFkk mkp o'k e ¥ 2409 gk tkrh g] tc
C;kt di p@ofs okfkd g] rk C;kt di okfkd
nj Kkr djA

(a) 8% (b) 10%

(c) 9% (d) 11%

If a sum becomes Y 1,460 in two years and
1,606 in three years due to the

compound interest, then annual rate of
interest is :

;fn dikb jkf*k p@ofya (ke dh otg | nk 0%k e
T 1]460 #1; rHk riu o't e ¥ 1]606 cu tkrh g]
rk C;kt dh okf'kd nj D;k g\
SSC CPO 15/03/2019 (Evening)
(b) 9%
(d) 8%

(a) 10%
() 11%
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133.

134.

135.

136.

A man invested a sum of money at
compound interest. It amounted to
¥12,100 in two years and to ¥13,310 in
three years. The rate of interest per
annum is :

,d 0;fDr u dkb jkf*k p@of¥ C;kt 1j fuo™
dit ;g nk o'k e ¥12]100 gk x;h vkj riu o'k
e T 13]310 #i; gk x;M ifr o'k C;kt dh nj
gt

SSC MTS 13/08/2019 (Evening)
(a) 11% (b) 9.5%
(c) 12.5% (d) 10%
A certain amount of money at
compounded interest grows to ¥ 66,550 in

3 years and ¥ 73,205 in 4 years. The rate
percent per annum is :

,d fuf"pr Zujkf*k pQdofys C;kt 1j 3 o' e
% 66]550 rfkk 4 o'k e ¥ 73]205 gk tkrh gh 1fr
o'k nj ifr*kr Kkr dift,A

SSC CGL 5/03/2020 (Evening)
(a) 10% (b) 5%
(c) 9% (d) 11%
A sum amounts to ¥ 7,562 in 4 years and
to ¥ 8,469.44 in 5 years at a certain rate

percent per annum. When the interest is
compounded annually, the rate of interest is:

,d jkf*k ifr o'k ,d fuf"pr nj ifr*kr 1 4 o'
e T 7]562 rfk 5 o'k e T 8]469 gk tkrh gh C;kt
dh nj fdruh g\

(a) 8%

(b) 12%

(c) 20%

(d) 15%

A sum lent out at compound interest
amount to ¥ 1,250 in one year and to

¥1,458 in 3 years at a certain rate
percentage p.a. What is the simple

2
interest on the same sum for 55 years

at the same rate of interest?

p@ofys Gkt ij m/kj nh xb ,d jiE'k ifr o'
,d fuf"pr nj ifrkr 1 ,d o'k e T 1]250 rfk
3 0% e T1]458 gk thrh gb bl jkF'k ij bl

C:ke nj | sg o' dk Bk/Kj .k C:kE fdruk gixi\
SSC CGL 7/03/2020 (Afternoon)

137.

138.

139.

(a) ¥ 600

(b) ¥ 520

(c) ¥ 500

(d) ¥ 480

A sum amounts to Y 7,562 in 4 years and
to ¥ 8,469.44 in 5 years, at a certain rate
percent per annum when the interest is
compounded yearly. If ¥ 10,000 at the
same rate of interest borrowed for two
years, then what will be the compound
interest (in 3)?

tc O3kt dk I;ktu okfkd g] rc ,d jkf*k ifr
ok ,d fuf*pr nj ifr'kr 1 4 o'k e T 7]562
rikk 5 o'k e ¥ 8]469-44 gk tkrh gh ;fn blh nj
1 T 10]000 nk o' d fy, m/kj fy, tkr g] rk
pdof¥s C;kt fdruk gkxk\

(a) 1,736

(b) 1,965

(c) 2,544

(d) 2,764

The simple interest on a sum of money
for 2 years at certain rate of interest is
¥ 320. The compound interest, compounded
annually on the same sum for the same

duration and at the same rate of interest
is ¥ 384. The sum (in ) is:

fdlh ji'k ij fdlh fuf'pr nj 1 nk o'% dk
Ik/kjk C:ke 2320 gh blh jkk ij blh nj 1
bl vof/ dk pdofys C;kt (okfkd -1k 1
I;ktr) ¥384 gh ;g jkf'k (Re) gt

SSC MTS 15/08/2019 (Afternoon)
(a) 400 (b) 250
(c) 200 (d) 309
The compound interest on a certain sum
at the end of two years is ¥408. The
simple interest on the same sum for the

same time is ¥400. The rate of interest
per annum is :

,d fuf*pr jkf*k 1j nk o'k d vr e ¥408 dk
pdof¥, C;kt feyrk gh blh jkf*k 1j blh vof/
dk I/kj.k C;k€ 400 gh ifr o' C;kt dh nj
fdruh g\
SSC CGL 9/03/2020 (Evening)
(b) 80%
(d) 8%

(a) 4%
(c) 40%
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140.

141.

142,

143.

144.

The simple and compound interests on a
certain sum of money are Rs. 400 and Rs.
420 in 2 years. Calculate the rate of
interest.

d fuf'pr ji'% ij 2 Ty dk I/ .k vij
pdofvs C;kt Delh # 400 vkj # 420 g C;kt
nj dh x.kuk dji

(a) 20% (b) 10%

(c) 15% (d) 5%

The simple and compound interests on a
certain sum of money are Rs. 600 and Rs.

660 in 2 years. Calculate the rate of
interest.

d fuf'pr ji'% ij 2 Ty dk I/ .k vij
pdof¥, (;kt De'kh # 600 vkj # 660 g C;kt
nj dh x.kuk dji

(a) 20% (b) 10%

(c) 15% (d) 5%

The simple and compound interests on a
certain sum of money are Rs. 200 and Rs.

214 in 2 years. Calculate the rate of
interest.

d fuf'pr ik ij 2 Ty dk DKLk ik
pdofYs C;kt Delh # 200 vkj # 214 ¢ C;kt
nj dh x.kuk djA
(a) 12% (b) 14%
(c) 16% (d) 18%
The simple interest on a certain sum of
P at a rate of r% per annum for 3 years is
Rs 11,250 and the compound interest on
the same sum for 2 years at the same rate
percent p.a. is Rs 7,650. What is the value
of P and r, respectively?
,d fuf"pr Zujkf*k z1; P 1j r% ifr 0% dh nj
130%d fy, I/K.kCkE zi; 11250 g] Vij
Jujktk iy 2 o' d fy, leku okfid nj 1j p@ofYa
C;kt -i; 7650 gh De’f P vkj r dk eku D;k g\
SSC PHASE IX 2022
(a) Rs 92500 and 6%
(b) Rs 92500 and 7%
(c) Rs 93750 and 4%
(d) Rs 93750 and 5%

The compound interest on ¥ 4,000 at the
rate of 5% p.a. is ¥ 630.50, then the time
period is :

145.

146.

;fn T 4000 1j 5» ifr o'% dh nj 1 pdof¥s
C;kt ¥ 630-50 g] rk le; vof/ fdruh g\
SSC CHSL 14/10/2020 (Morning)

1
(b) 3 years

(a) 2 years 2

1
(c) 3 years (d) 15 years

In how many years will a sum of ¥ 320
amount to ¥ 405 if interest is
compounded at 12.5% per annum?
fdru o'k e ¥ 320 jkf'k c<dj ¥ 405 gk tk,xh
vXxj C;kt ifr o'k 12-5» 1j p@of¥a g\

SSC CHSL 16/10/2020 (Afternoon)
(a) 2 years (b) 1 year

1 1
(c) 25 years (d) 15 years

A sum of Rs 100 is lent at 10% p.a.
compound interest. What is the difference
between the compound interest for the
second year and the third year?

100 -i; dh jkf*k dk 10» ¢fr 0% p@of¥s C;kt
dh nj 1 m/Zkj fnsk thrk gh nlj o'% vkj rhlj
o'k d pdof¥s C;kt d chp fdruk vrj g\

(a) Rs. 1 (b) Rs. 1.1

(c) Rs. 1.2 (d) Rs.1.5

147. A sum of Rs. 4,000 is lent at 10% p.a.,

148.

interest compounded annually. What is
the difference between the compound
interest for the 27! year and the 3rd year?
10% okf'kd p@of¥s C;kt dh nj ij # 4]000 df
JE'k mZk nh ket g vij Gkt okfkd 1 kFer
gkrk gA nlj vk rilj o'k e ikir pdof¥s (;kt
d chp vrj Kkr djA

SSC MTS (Shift- II) 08/10/2021

(a) Rs 44.00 (b) Rs 45.40
(c) Rs 46.50 (d) Rs 45.00
A sum of ¥15,000 is lent at 16% p.a.

compound interest. What is the difference
between the compound interest for the
second year and the third year?

T 15000 dh jkf'k dk 16» ifr o'k p@dofys (;kt
1j m/kj fn;k tkrk gt nlj o' vkj rilj o'k d
pdofys C;kt e vrj Kkr djh

SSC CGL 06/06/2019 (Morning)
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149.

150.

151.

152.

153.

(a) X 544 (b) T 445.44
(c) T 454.88 (d) T 548

A sum of Rs 2500 is lent at 4% p.a.
compound interest. What is the difference
between the compound interest for the
4th year and the second year?

2500 -i; dh jk*k dk 4» c¢fr o'% p@ofya (;kt
dh nj I m/Zkj fn;k thrk gh nlj 0% vkj phFk
o'k d pdof¥s C;kt d chp fdruk vrj g\

(a) Rs. 12.64 (b) Rs. 17.65

(c) Rs.8.48 (d) Rs.2.34

A sum of Rs 100 is lent at 10% p.a.
compound interest. What is the difference
between the compound interest for the
5th year and the 3rd year?

100 zi; dh jkf'k dk 10» cfr o'k p@ofvs C:kt
dh nj 1 m/Zkj fn;k thrk gh ikpo o'k wkj rilj
o'k d pdof¥s C;kt d chp fdruk vrj g\

(a) Rs. 4.62 (b) Rs. 2.541

(c) Rs. 6.64 (d) Rs.1.21

If the compound interest in the third year
at 8% p.a. on a certain sum is ¥3600,
then what is the difference between the
compound interest in the 4** and 5% year?
(nearest to an integer in )

-fn fd It ik ij 8» ifr o'k dh nj 1 rilj o'k
dk p@ofys C;kt 3600 g] rk pkFk vkj ikpo
o'k e p@of¥s (;kt d chp vrj Kkr dji (fdlh
i.lkd d fudVre #i; e)

SSC MTS 22/08/2019 (Evening)
(a) ¥ 304 (b) ¥ 335
(c) ¥ 288 (d) ¥ 311
A sum of ¥ 18000 is lent at 10% p.a.
compound interest, compounded annually.
What is the difference between the
compound interest for 3rd year and 4%
year?
218000 di jKf'k 10» ifr o' okfkd p@ofva
C:kt ij m/kj nh ekt gh rlj wkj pkFk o' d
pdofs C;kt e vrj Kkr djh
(a) ¥ 220.60 (b) ¥ 217.80
() ¥ 221.80 (d) ¥215.40

The annual intererst compounded on any
amount is ¥ 1,320 for the second year and
¥ 1,452 for the third year. What will be
the original amount at the beginning of
the first year?

154.

155.

156.

157.

fdlh jk*k ij okfkd I;kftr p@of¥s C;kt nlj
ok d fy, ¥1]320 g vkj rlj ok d fy,
T 1]452 gh igy ok dh *kzwvikr e ey jkf*k fdruh
gkxi\

SSC CPO 15/03/2019 (Evening)
(a) ¥ 12,650 (b) ¥ 13,200
(c) ¥ 12,970 (d) ¥ 12,000
If the rate of interest is 20% per annum,
compounded yearly and the interest on a
certain sum in the second year is ¥ 250,

then what will be the interest on the
same sum in the fifth year?

;fn C;kt dh nj ifr o% 20» g rRk pQof¥
0kt okfkd g vij fdIh fuf'pr jif'k ij nlj
o'k dk C;kt 250 g] rk ikpo o'% e bl jkf*k
1j C;kt fdruk gkxk\

SSC MTS 20/08/2019 (Morning)
(a) ¥ 518 (b) ¥ 400
(c) ¥ 360 (d) ¥ 432
If the rate of interest is 20% per annum,
compounded yearly and the interest on a
certain sum in the 5th year is Rs. 432,

then what will be the interest on the
same sum in the 2nd year?

;fn Okt dh nj 20» cfr 0% g] tk okf'kd =1
I 1;kftr g vij 50 0% e ,d fuf*pr jkf*k ij
C;kt # 432] rk nlj o' e mhh jki*k ij C;kE
fdruk gkxk\

(a) Rs. 300 (b) Rs. 250

(c) Rs. 325 (d) Rs. 150

Compound interest received in the 3rd
year on a sum is Rs.442. If the annual
rate of interest is 15%, then how much
compound interest will be received in the
4th year on the same sum ?(interest is
compounded annually)

fdlh jkik 1j rilj o'k e ¢kir pdof¥ C;kt 442
#1; gh ;fn okf'kd C;k€ ny 15» g] rk mih jkf*k
Ij pkk o' e fdruk p@of¥s C;kE ¢kir ghxk\
C;kt okf'kd =i 1 b;kftr gkrk g)

(a) Rs 512.7 (b) Rs 508.3

(c) Rs514.3 (d) Rs624.3

A sum of ¥ 10,500 amounts to ¥ 13,650
in 2 years at a certain rate per cent per
annum simple interest. The same sum
will amount to what in 1 year at the same
rate, if the interest is compounded half
yearly (nearest to ¥ 1)?
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158.

159.

160.

% 101500 -i; dh ,d jkf*k ifr o'k ,d fuf"pr
nj 1frkr 1 2 o'% e ¥ 13]650 gk tkrh gh ;qn
jikblhnj 1 1 o' e fdruh gkxi] ;fn C;kt dk
I;ktu v¥olfkd g\ (R 1 d fudVre)

(a) ¥ 12,134 (b) ¥ 12,314

(c) ¥ 12,124 (d) ¥ 12,143

4,000 is given at 5% per annum for one
year and interest is compounded half
yearly. ¥ 2000 is given at 40% per annum
compounded quarterly for 1 year. The
total interest received is nearest to :

241000 5» ifr o'k di nj 1 ,d o% d fy,
fn, thkr g rfkk C;kt dh p@of¥s v¥okf'kd gh
£2]000 1 0% d fy, 40» ifr 0% dh nj 1 fn,
thr g rik C;kt dh pdofYs =kekfld gh 1kir gu
okyk dy (;kt yxHx fdruk g\

SSC CHSL 13/10/2020 (Afternoon)
(a) ¥ 1444.40 (b) ¥1888.80
() ¥1130.70 (d) ¥1333.30
Rahul invested equal sums of money at
compound interest under two schemes A
and B. Under scheme A, the interest rate
was 10% per annum and under scheme B,
the interest rate was 12% p.a. The
compound interest after two years on the
sum invested in scheme A was ¥ 1,050.
How much is the interest earned under
scheme B after two years, if the interest
is compounded annually in both scheme?
jkgy u nk ;ktukvk A vij B e p@ofys (;kt ij
cjkcj jkf'k:k fuo™k di sktuk A €] C:kt dh nj
10» ifr o'k Fo rfk ;ktuk B e] C;k€ dh nj
12» Fih ;keuk A e fuofkr jki*k 1j nk o'k d
fy, p@of¥ C;kt ¥ 1050 Fkt nk ok d ckn
;ktuk B e fdruk C;kt akir gkxk] ;fn nkuk gh
;keukvk e C;kt dk I;ktu okf'kd gh
(a) ¥1270 (b) ¥1372

(c) T1722 (d) ¥1272

A sum of ¥ 7,500 amounts to ¥ 8,748 after
2 years at a certain compound interest
rate per annum. What will be the simple

interest on the same sum for 4% years
at double the earlier interest rate?
Z 71500 dh jkf'k ifr o' p@ofvs C;kt oh ,d
fuf*pr nj 1 2 0% e T 8]478 gk tkrh gh blh
JkE*k 1j igy dh ryuk e nkxuh nj 1 4% 0"k
dk IkZkj .k C;kt fdruk gkxk\

SSC CGL 2/07/2019 (Afternoon)

161.

162.

163.

(a) ¥ 4,140 (b) ¥ 5,520
(c) ¥ 8,180 (d) ¥2,760
A sum of ¥ 10,000 amounts to ¥ 11,664
in 2 years at a certain rate percent per
annum, when the interest is compounded
yearly. What will be the simple interest

on the same sum for 5% years at the
same rate?
£10]000 dh ,d jK'k ifr o' okfkd p@of
C;ke dh ,d fuf*pr nj 1 2 o'k e ¥ 11]664 gk
thrh gh bl jkF'k ij bIh nj 1 5% o'k dlk
Bk .k Okt Kkr djb
SSC CHSL 3/07/2019 (Morning)
(a) ¥ 4,320 (b) ¥ 4,160
(c) ¥ 3,840 (d) ¥ 4,040
Divide Rs.66,300 between A and B in such
a way that the amount that A receives
after 8 years is equal to the amount that
B receives after 10 years; with compound

interest being compounded annually at a
rate of 10% per annum.

#- 66]300 dk A vkj B d cip bl ¢dkj foHkftr
dj fd a dk 8 o'k ckn ckir gku okyh jki*k 10
otk d ckn B ckir gku okyh jki*k d cjkcj gk
tefd C;kt dh nj okfkd =i 1 p@of¥s) giu okyh

10» okfid gh

(a) A = Rs.35,200, Rs.B = 31,100

(b) A = Rs.36,300, Rs.B = 30,000

(c) A =Rs.37,000, Rs.B = 29,300

(d) A = Rs.35,520, Rs.B = 30,810

Joseph deposited a total of Rs.52,500 in a
bank in the names of his two daughters
aged 15 years and 16 years in such a way
that they would get equal amounts when
they become 18 years old. If the bank
gives 10% compound interest compounded
annually, then what is the amount (in Rs.)
that Joseph had deposited in the name of
his younger daughter ?

i) u 15 DTky wvij 16 Bky dh viun nk cfv;k d
uke ,d cd e #i; 52]500 tek fd, rkid 18 Iky
dh me e mig cjkcj jde fey tk, ;fn cd okf'kd
10» p@of¥s C;k€ nrk g] rk €Bi0 u viuh Nkh cVh
d uke ij fdrun jif*k (# €) tek dh Fe\

SSC CGL 18.04.2022 (2*¢ Shift)
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(a) 25,500
(c) 24,500

(b) 26,000
(d) 25,000

164. A and B together borrowed a sum of

165.

¥51,750 at an interest rate of 7% p.a.
compounded interest in such a way that
to settle the loan. A paid as much amount
after three years as paid by B after 4 years
from the day of borrowing. The sum (in %)
borrowed by A was :

A rfkBu ,d IFk 7» ifr o' dh nj 1 T51]750
dh jk'k bl idkj m/k yh fd T.k pdrk dju
d fy, Aum/kj yu oky fnu I riu o d ckn
mruh gh Jkf*k dk Hxrku fd;k feruh jktk dk
Hxrku B u 4 o d ckn fd;ih A d Fjk m/kj
v x;h 'k (e) gt

SSC CGL 5/03/2020 (Afternoon)
(a) ¥ 25,000 (b) ¥25,650
(c) ¥ 24,860 (d) ¥26,750
Amit borrowed a sum of ¥ 25,000 on
simple interest. Bhola borrowed the same
amount on compound interest (interest
compounded yearly). At the end of 2
years, Bhola had to pay ¥ 160 more

interest than Amit. The rate of interest
charged per annum is:

vier u Lk/kj.k C;kt 1j ¥ 25]000 dh jkf*k mekkj
vk Hkyk u bruh gh jkf*k p@of¥ C;kt (C;ke dk
I;ktu okfkd) ij mékj yt 2 otk d wvr €]
Hkyk dk vier 1 ¥ 160 vi/d (;kt dk Hkxrku
djuk iMé 1fr o'k yxk, x, C;kt dh nj gk

SSC CGL 06/03/2020 (Afternoon)

166.

1 16

3= 2o

(a) 35% (b) %
8

(c) 8% @ 5%

Ram deposited an amoaunt of ¥ 8,000 in
a bank's savings account with interest
6.5% compounded monthly. What amount
will he get at the end of 18 months?

jke u cd d cpr [kr e ¥8]000 dh jki*k tek
dh ftl ij ekfld 1;ktu d vulkj 6-5» (;kt
feyrk gh 18 ekg d vr e ml fdruk fed/u ikir
ghxk\

SSC CHSL 17/03/2020 (Evening)
(a) ¥8816.97 (b) ¥8788.98
(c) ¥8790.54 (d) ¥8907.56

167. A certain sum amounts to Rs 11,520 in 4

years at the rate of 15% p.a. simple
interest. What will be the amount of the
same sum in 2 years at the same rate, if
the interest is compounded 8-monthly
(nearest to a Rs)?

,d fuf*pr jkf*k 15» ¢fr o' dh nj 1 4 o' e
111520 #i; gk thrh gh Dk/kj.k C;keh Deku jkfk
dh jkf'k 2 o' e leku nj I fdruh gkxt] ;fn
C;kt 8 ekfld (,d #i; d djic) I;ktr fd;k

thrk g\

SSC PHASE IX 2022
(a) Rs 9,853 (b) Rs 9,338
(c) Rs 9,583 (d) Rs 9,538
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